Equilibrium System

Households:

Euler equation:

(& 1 —"_ Z € u
(6f) = 98 (1 v () + v ()]
t+1
Constraints:
b a b
= %:HH“)FZ_ (1+zt)é
cf =x+ 74
a
%1 =T+ (1 — Tt)[etUJt + etdt] + UtT,;u — [6,50? + utcﬂ
t
Labor Market:
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Employment accumulation:

with searchers s; given by:
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Nash-Bargained Wage:
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Asset market equilibrium:
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Optimal hiring:
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Discount factor:
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Dividends definition:
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Prices:
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Inflation:
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Price dispersion:
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Dividends:
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Government budget constraint:
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Unemployment Insurance:
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Taylor rule:

Shocks:
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Productivity:
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Borrowing:
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Monetary policy:
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Steady-state equations

Euler Equation:
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where we target 7 = 0.003 and i—u =0.72.
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Searchers and job filling rate:
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Discount factor:
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Nash-Bargained Wage:
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which after substituting the expressions for ¢ k, 7 gives:
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The opportunity cost of work, Y, is given by:
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Unemployment benefits are calibrated to 7% = 0.3w.

Dividends:
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Government budget constraint:
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